This Question Booklet
QDB'3 6 M’Hgﬁdkl

Contains 4 Printed Pages

SHIS
. C
Subject: HYAWRA (Main Examination) Conventional Paper
Medium:  Gujarati GRAReAL 6Lss «ioR
UHY $ 3 s5Qls Time : 3 Hrs.
34 281 200 Total Marks : 200
Yaudl: (1) Usdus A, B 2t C SO 9, Ucds GPIML duidldl U3 dal dsl 281
S IUCTETIERIEE S
(2) Uds GIHL UL ordlol 25 HIA - APl SHAR
orAUAAEIHL Avaldl 289, dHoY s QRLAL UL ovalel 1A odlon
QPRI WAl ovadlel quidl <l oA v dld w5 QL UsidL ovdlol
A ollod Pl UHAL ovdlol dvidl 68 dl d duHAl 2199 «dl.
(3) @Bl A, B 24 C Hi <l uzlidl ovalol [M4iRd 2egimi quial,
(4) o4 iAW UMM 2UUAHL 20dd WAL 24 A<l A5RId] DiqAIEH] dgldd
ORI dl, 1A% Gluldl UH d HI2 HIed YAl 264,
(5) Guz 2iAw »iEdl AsUdl ol Usl 20 [Aseu 2Ud Bls o QUM
auidldl 6. old QML ovdlell wis WiEd dull asd <€l
[Qeua - A (40 Marks)
YAl 1) usuA sHis: 1Al 20.
2)  ofl o 20 UL orAloll duidldl 9.
3) €25 WAL 2 L 9.
4)  odlol R 20 dl 30 oRHI dwal
001. AgdguaAdl [Udl 59l séar 97 Al He2?
002.  sdl sROER Aes Gl Bud w9y wilel s W 9.
003.  HId HEL HIUA SUR sEAd 97 sl Vs ddd Al UL ol HidA, dMIeAA:
Y WUy el ©.
004,  wH-AlHled df2oRidl Rtdid orgual 24 dd, (A9 sl Hera aldl,
005. 4Rl 5 25 Aes o o2 otd PQ, + P,Q, = Y U €. USR5
AHAL 92 [lump-sum tax] ‘T’ o/2dl «ivl 8, 2id dxd 17 GUWR AU R
‘0 € divl 9 dul xd 27 A ‘S’ R yowrdldl 2 9. Aesdl oo viid,
a9 wdlsgl o 2d?
006. Gculed (484 <l Ay [od-Yul €l 9. UHondl.

QDB-36 | [1] [ P.T.O.



007.

008.

009.

010.

011.

012.

013.

014.

015.

016.

017.

018.

019.

020.

VICUSEAS SO Al ool [alse vudludl svoudl.

“Agl HeTH AR UZ] Uldldl HHL ML viel Hed [RUs el Gur sl
[ta adiadl «dl.”” uHondl.

Yorasl wdaa oRloall wd aur qal ovdl Aaiglbil [l ual s2
9. R ofegdal AR SIAL Addl QU VA 51RY2Rd 5d4 Gouled, ovdl
garigloll Al wal 2 9. gl s

GNP »1d GDP 42Ridl dsldd 2ud $3U.

cRdlR WAL o1l oreH Al R AA[ds GDP 98 8 wd Hqrud ollus
o< AR didlds GDP a2 9. vl sl

N

Aorsidle viE B AUl el 9234l dslad saldl.

[

orealoit, Al B 1925 $UAL QAL dglad gl
s gl i 2Ulls [As10 924l dglad wue s,

UL Agiel [0 w2 294 d1ldd RS (automatic stabilisers) <l ®Hs)
23],

AQL URAGAL A o/QUAl o7 Adal Rl (50eudl) 2s «dl ol «ssl 52
9. wid o/l w5 viedl wEdaHl AorsiMlL «dlld wusRS oid 9.

N\ Y

vied [Aldd 2USIHAL KAl 2 QAR DUAL 9l disl AsS AL Al HI2
gl GuR vt 97

Ry ols gL <9l YRAsld, (sl s2dl bl 23l
MRddl el ool v’ dl vaadl carval 2l

v dl [Bza [[hg YR oy s vid wdld [zadl yéRisl oid ©e94dlu
9, UWd yd sl wed qUR A3 9. Al He?

QDB-36 | [2] [ Contd...



021.

022.

023.

024.

025.

026.

027.

028.

029.

030.

031.

032.

([@eua - B (60 Marks)

YAAL 2 1) uH sdis: 21 4l 32,
2) ol o 12 WAL ovalell dudldl 9,
3) €5 UHAL 5 QL 9,
4)  oydlol UM 50 dl 60 AOEHI AwAl

gz 2 e’ (dismal) [Asud ©9.” [rugll sl

-

‘GoU Azl HIZ MDAl (UM sH ARl 2087 uuendl.

sedl Afdl QAR Al [AaH ole wulls dd (economics of scale) €uld .
[2rugll s2l.

of. . 9¥uler gkl 2UA gldl [AEAid uuoadl.

“ols uhlcHs Goules 2sPUOIME Geuled AY AW 5 €Al d IR wRRg
wRAR WA ddHl A9 U, A% Gouleddl o2l «ssl kAl dlMia w4
QAHl 49 U e dgl ddl dsUid AL UR1A 54 Wl A4 fddHl dg
g’

dbiRe Guzdl a1 s Al 201 genusl 9. Al HIR?
VUOIIRL i AL [SHdl v €l 9. Al Wi ?

9 ArdAl@s Hels GDP »ulls HousiKld A3 HY 97 Al HEZ2 wEdAl Al
He «le?

oisl caMial Al Gefl gl s2dl. A et AUSUHALA AQUHL HAIA otedl
diul 9. AL

Fuldi-<lar (USA) glewmul &2 1965 | ‘3uldl 5 = 25 Slar’ edl o
vedld (2lP1R2 21, 2016) 3. 67 = b5 SlaR 9. 2L uRAdA 24l 5RQU

HYoAl.

ARl Rd ols 54 350 ofldlua ez [Qeell gyl siamdl wd 9.
52dls deall <l 20U widl 9 5 21 oAl 99 usdl 9 ek ofloa S2dls
dseall <l wUGURL 2idl 9 5 B orzal violsy AL 9. UHOAAL.

Alasol <l cqrvul UL 2 d Hudl @i usald sl

QDB-36 ] [3] [ P.T.O.



033.

034.

03s.

036.

037.

038.

039.

[Qena - C (100 Marks)

YAAL 2 1) uH sdis: 33 el 39.
2) el 7 Usl A" d 5 UL ovaAlell dwdldl €.
3) €5 UAdL 20 QL 9,
4)  ordlel YR 200 YoLIHL dwial,

[Bud cleca 224 947 Ao saudl Bua @leenadl (5l wuoadl. d 59
Wl €50l AglsRs [AAs8 d ovQUAl b gl HeTH AR SoaRiER 4l dd
Aes AU Al 245 @PL Udidl dRg 2AdidRd 5290 A galdl

dslR-vlledladl qurdl Hizaedl Heedl w1 galdl 3 ‘Aur-<le’ sl Ysd
QUR AURL 9. 9 dURHML GPIERIA ddl 215 vl e HOL 97 UHonAl.

iRl 3 «dlld asdiRIB Adovel d UL 4l 992 GDP i QIR SRdlL WDl
9. <Allisle 2 2Asrsila dllA o 29 MagL caldl 5 ordiEl 21 i slug
AL oasid, adizl MAmeldl sl 3l

widRUeU duUR s (WTO) skl [Qadl dur 214 yRIsomi qaral
ReRidl Al 520 [AsAAl a2l 2AARE duR 20054 A1E 55 oloeldl »idl
¢oy G54 Hoqadl olsl 97 Al

519 A9 2124 97 d 3dl <d GeMd 97 dedl wiEda Gurdl uRguHidl w2l
5.

-~

Aol AlEls [Asiumi uesl ugldstial sl <l ual sl

Vs 9FU d M Azeld 9. ddl glMEl 2d ARgIMEL UHodl

QDB-36 | [4] [ Contd...



This Question Booklet
QDB'3 6 M’Hgﬁdkl

Contains 4 Printed P :
ontains rinted Pages suis

Subject: Economics (Main Examination) Conventional Paper

Medium :

UAHY ¢ 3 sAls
: 200

39 A8

English GHEARAL G185 <612

Time : 3 Hrs.
Total Marks : 200

N.B.: 1)

2)

3)

4)

S)

The question paper has been divided into three parts, “A”, “B” and “C”.
The number of questions to be attempted and their marks are indicated
in each part.

Medium of question paper is “English / Gujarati”. Write in the language
preference given by you.

Answer to all questions of each part should be written continuously in the
script and should not be mixed with those of other parts. In the event
of candidate writing answers to question in a part different to the one to
each the question belongs, the question shall not be assessed by examiner.

The candidate should write the answer within the limit of words prescribed
in the parts “A”, “B” and “C”.

Answer should be written in a one of the two languages. Answer should
not be written in both the languages in the same paper.

PART - A (40 Marks)

Instructions: 1)  Question No. 1 to 20.

2) Attempt all 20 questions.
3) Each question carries 2 marks.

4)  Answer should be given approximately in 20 to 30 words.

001. Who is regarded as the father of Economics? Why?

002. What makes a consumer to buy more of a commodity even at a higher price?

003. When is demand said to be price elastic? Name a product whose demand is,

in general, price elastic.

004. State the equi-marginal principle and indicate its significance in decision

making.
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Suppose the consumer’s budget constraint is given by P,Q, + P,Q, = Y. The
government imposes a lump-sum tax of T, a specific tax on good 1 @ t,
and a subsidy on good 2 @ s. What is the equation of the consumer’s new

budget line?
The graph of production function is non-linear. Explain.
State the salient features of the monopolistically competitive market.

A profit maximising firm never operates on the inelastic part of the demand

curve. Why?

While Microeconomics deals with variables like unemployment and balance
of payments, Macroeconomics discusses variables like crude oil price and

number of computers manufactured. Comment.
Distinguish between GNP and GDP.

When a chicken is born, per capita real GDP goes up; when a child is born,

per capita real GDP goes down. Comment.

Distinguish between fiscal deficit and trade deficit.

Distinguish between retail inflation and wholesale inflation.
Distinguish between economic growth and economic development.
Discuss the role of automatic stabilisers in taming business cycles.

Name the three parameters which determine the magnitude of the autonomous
expenditure (Keynesian) multiplier, hence the effectiveness of the fiscal policy,

in an open economy.

Why do people hold money, even though it earns a lower return than the

other financial assets?

Discuss the instruments through which the Central Bank regulates the money

supply.
Define the concept of the "poverty line" with reference to India.

While both foreign portfolio investment and foreign direct investment are

desirable, the latter is better than the former. Why?
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PART - B (60 Marks)

Instructions: 1)  Question No. 21 to 32.
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2) Attempt all 12 questions.
3) Each question carries 5 marks.

4)  Answer should be given approximately in 50 to 60 words.
Economics is a “dismal” science. Comment.
The law of demand always holds good for superior goods. Explain.
Increasing returns to scale implies economies of scale. Comment.
Explain the theory of profit propounded by J.A. Schumpeter.

“A competitive producer must look to average variable cost in determining
whether or not to produce in the short-run, to marginal cost in deciding upon
the best volume of production and to average total cost to calculate profits

or losses.” Discuss.
A tax on cigarettes is perhaps the least hated. Why?
News papers and Magazines prices are sticky. Why?

Is real GDP per capita a good measure of economic well-being? Why or why

not?

“Banks do not create money out of thin air. They transmute other forms of

wealth into money”. Discuss.

The rupee-dollar (USA) exchange rate was at Rs. 5 per dollar in 1965 and
it stands at around Rs. 67 per dollar currently (Aug 21, 2016). Explain the

factors responsible for this change.

The Reserve Bank of India holds about $350 billion worth of the foreign
exchange reserves. Some experts say it is too much while some others opine

it is too little. Explain.

Define globalisation and give one method of measuring it.
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PART - C (100 Marks)

Instructions: 1)  Question No. 33 to 39.
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2) Attempt any 5 out of 7 questions.
3) Each question carries 20 marks.

4)  Answer should be given approximately in 200 words.

What is price discrimination? Consider a case of the third degree price
discrimination, list the conditions under which it is profitable to practice,
and show how a profit maximising monopolist could transfer a part of the

consumers’ surplus to itself?

Using the Heckscher-Ohlin model of trade, show that free trade is better than
no trade. Do the trade partners share the gain equally? Explain.

Suppose the policy-makers desire to raise GDP without affecting interest rate.
Suggest a mix of fiscal and monetary policy measures that could achieve this

goal. Discuss the limitations of your recommendation.

Discuss the changes that have been brought about by the World Trade
Organisation (WTO) in the trade and investment environment of the world.
What issues the developing economies have yet to resolve with the WTO?

Discuss.

What is black money? How it is created? Discuss its consequences on the

economy.

Explain the contribution of cooperative activities in the economic development

of Gujarat.

Economic growth is a mixed blessing. Elucidate the pros and cons of it.
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